RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Accepting and Approving the Needs Assessment and Planning Report drafted by the Nation's Consultant, EKM, Inc.)

RESOLUTION NO. 2000-425

1	WHEREAS,	in August, 1999, the Judicial Branch and the Tohono O'odham Police Department			
2		created a partnership for the purposes of developing and constructing a correction			
3		facility to house both adults and juveniles; and			
4	WHEREAS,	a technical committee comprised of the Nation's Planning Department, Police			
5		Department, Judicial Branch, and Office of the Attorney General was formed to			
6		conduct research and planning necessary to fund and construct the joint corrections			
7		facility; and			
8	WHEREAS,	by its February 08, 2000, Resolution No. 2000-046, the Tohono O'odham Legislative			
9		Council appropriated funds to hire a consultant and authorized the technical			
10		committee to work with the consultant to conduct a needs assessment and planning			
11		of the Adult and Juvenile Joint Correction Facility; and			
12	WHEREAS,	one of the primary purposes of the completion of the needs assessment and planning			
13		was to prepare for the next grant funding cycle of the United States Department of			
14		Justice; and			
15	WHEREAS,	the technical committee and its consultant, EKM, Inc. have completed the needs			
16		assessment and report and have presented the report to the Legislative Council for			
17		its acceptance and approval. The technical committee has further requested			
18		authorization to utilize the report in its future submission of grant applications.			
19	NOW, THER	REFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council accepts and			
20		approves the needs assessment and planning report drafted by the Nation's			
21		consultant, EKM, Inc. and authorizes the technical committee to utilize the report in			
22		its future grant applications.			
23					
24 25		ng Resolution was passed by the Tohono O'odham Legislative Council on the <u>15TH</u> . Day			
26	of <u>SEPTEMBER</u> , <u>2000</u> at a meeting at which a quorum was present with a vote of <u>1,719.0</u> FOR; <u>-0</u> AGAINST; <u>-0-</u> NOT VOTING; and <u>446.5 [09]</u> ABSENT, pursuant to the powers vested in the Council by				
27	Section 1 (1) & (f) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the				
28		Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant			
29		Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June			
30 31	18, 1934 (48	5 Stat. 784).			

32 33

	RESOLUTION NO. 2000-425 (Accepting and Approving the Needs A Consultant, EKM, Inc.) Page 2 of 3	ssessment and Planning Report drafted by the Nation's
1		TOHONO O'ODHAM LEGISLATIVE COUNCIL
2		\cap \cap
3		\mathcal{A}
4		New Run
5		Dennis Ramon, Legislative Chairman
6		TL 1
7		19th day of September, 20 00
8		
9		
10	ATTEST:	
11	Maria Da Vara	
12	Jennem Som fr	
13	Julianna Saraficio, Acting Legislativ	e Secretary
14	15 Coto les	0/2
15	15 day of September, 2	0 <u>00</u> .
16	V	
17		
18		
19	Said Resolution was submitted for a	pproval to the office of the Chairman of the Tohono O'Odhan
20	Nation on the $\frac{19^{-1}}{2}$ day of $\frac{1}{2}$	September , 20 00 at 10:52 o'clock, A.M.
21	<u> </u>	s of Article VII of the Constitution and will become effective
22	I	ure to either approve or disapprove it within 48 hours o
23	submittal.	MONONO OLODANA I POTOVA MINIMO COLINION
24		TOHONO O'ODHAM LEGISLATIVE COUNCIL
25		\cap
26		
27		David Barrier Visit Advis Chairman
28 29		Dennis Ramon, Legislative Chairman
30		
31		
32		the profession
33	[X] APPROVED	on the 20 day of fertentier, 20 00 at 5:44 o'clock, M.
34	i / i i i i i i i i i i i i i i i i i i	on the day of Arthur 7, 20
35	DISAPPROVED	at 5.44 o'clock P.M.
36		
37		90 10 m
38		/ Kharl & // Rem. ol
39		EDWARD D. MANUEL, Chairman
40		TOHONO O'ODHAM NATION
41		
42		
4.0		

	RESOLUTION NO. <u>2000-425</u> (Accepting and Approving the Needs Assessment and Planning Report drafted by the Nation's Consultant, EKM, Inc.) Page 3 of 3								
1	Returned to the Legislative Secretary on the 2/5+ day of								
2 3	<u>September</u> , 20 00, at 10:16 o'clock, 12.M.								
4									
5									
6	The freeze								
7	Julianna Saraficio, Acting Legislative Secretary								
8									
9									
10									
11 12									
13									
14									
15									
16									
17									
18									
19									
20 21									
22									
23									
24									
25									
26									
27									
28									
29 30									
31									
32									
33									
34									
35									
36									
37									
38 39									
40									
41									
42									
43									
44									

ACTION: ACCEPTING AND APPROVING THE NEEDS ASSESSMENT AND PLANNING REPORT DRAFTED BY THE

NATION'S CONSULTANT, EKM, INC.

MOVED: COUNCILWOMAN RITA MARTINEZ

SECOND: COUNCILMAN ALEX RAMON

DATE: SEPTEMBER 15, 2000

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85.9	х			х
	2. RITA MARTINEZ (Nicholas Jose)	85.9	x			
SELLS 372.7	1. DENNIS E. JOSE	186.35	x			
312.7	2. EVELYN JUAN ()	186.35	x			
SCHUK TOAK 133.4	1. MARY FLORES	66.7	x			
133.4	2. AMBROSE ENCINAS ()	66.7	x			х
SAN XAVIER 165.9	1. TONY BURRELL	82.95	х		_	х
105.9	2. DENNIS RÁMON ()	82.95	x			
BABOQUIVARI	1. FRANCES MIGUEL	143.25				х
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25				x
GU ACHI 209.6	CAMILLUS LOPEZ (Louis Johnson)	104.8	x			
209.0	2. ALEX J. RAMON	104.8	x			
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	78.4	Х			x
156.8	2. JOHNSON JOSE ()	78.4	х			
SAN LUCY 128.1	1. ALBERT MANUEL, JR.	64.05	x			
128.1	2. GLORIA RAMIREZ**	64.05	x			
GU VO 160.0	1. FERN SALCIDO	80.0				X
100.0	2. GLORIA MONTANA (Phillip Antone)	80.0				x
HICKIWAN	1. SHIRLEY MOLINA	79.05	х			
158.1	2. LLOYD FRANCISCO (Susan Sam)	79.05	x			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	х			х
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	x			
T	2,165.5	1,719.0	-0-	-0-	446.5 [09]	

^{**}PASSED VOTES